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1 2 | E 5 6 7 8 9 10 1" 12 13 14 15 16 17 18 19
Jinssninc ke | 18 120 - 10C3x+/3+bn 44 0.8 1A 19 27 304 2e Canitapic | Kopenesa yoxa 20 s
T RITBCHKL l 33 75 - 10C3k 51 0,8 1A 22 24 380 2e pybanus Kopenesa rydka 40 marepianis
ITHERIIBCIRC 2 4 22 - 10C3+]13+bn 80 0,7 1A 28 36 455 2e BHOIPKOBE Biamupantis 35 NiCBIOPHIKYBAHHA
HIIRCRRe ' 18 1.3 10C3+Bu+ I3 81 0,75 1A 28 36 480 2¢ B TO BCHXAHHR 35 HC BHABIICHO
Sl RHIIHCL R 2 20 22 - - 9C31 13 91 0,635 I 29 40 430 2e - aepes 40 -
Hrnme ke ? 21 1.1 - 10C3+ ]Iz +bn 76 0,8 A 28 32 515 2e s - 35 KN
[ Hnﬁnnnuumc 3 24 72 - 10C3+bn+]i3 91 0,75 1 29 36 490 2¢ e e 40 s
LU S SR ey
JhrsiincLie ® 2 15.0 - 10C3x 53 0,80 I 20 22 350 2e - Kopencsa rydxa 20 P
JHRNIRCLRC b 13 39 - - 10C3x+bn 26 0,70 1A 13 150 2e - Kopenesa ryoka 22 s
JIHTBHHIBCBKE 8 19 9.7 - 9C31bn 41 0,75 1A 19 20 280 2 - Bizmupaina Ta 20 T
BCHXAHHA Jepes
SITBHHIBCLRE 10 5 17 - - - 10C3x 60 0,75 1A 23 26 370 2 - Kopenesa rybxa 40 e
JINTBHHIBCBKE 10 11 1,5 - - - 10C3k 61 08 1A 24 26 435 2 s Kopenesa rybka 35 o
JINTBHHIBCLRE i 9 21 - - - 10C3+bn 35 08 1A 17 20 260 2e DG Biamupanis 1a 40 R
JIMTBUHIBCHKE 4 1 180 - - - 9Cslbn 46 0.8 1A 20 24 314 2¢ e BCHXAHMA iCPEB 60 o
JINTBHHIRCHKE 41 13 16,0 - - - 10C3+AKD 61 0.80 I 2N 24 370 2e e L 60 I
JinTRuuiBCHKE 42 7 150 - - 10Cs 55 0.8 IA 23 28 390 2e s R 60 i
JIHIBIINBCLRE 12 7 0,6 - - - 10C3+bn 43 0,80 1A 19 20" 300 2¢ s . 35 .
JTHTHHHIBCBKE 12 23 27 - - 10C3k 46 0,80 1A 21 22 330 2e s Kopenesa rybka 20 .
JIHTIBRHIBCBKES 12 28 0,6 - - - 10C3k 46 0,40 1A 21 24 220 2e s Kopenesa noka 20 .
SInnuiscbke 12 30 1,2 - - - 10C3x 46 0,80 1A 21 22 330 2e - Kopetesa ryba 20 N
JINTBHHIBCHKE 20 20 5.5 - - - 9C31[l3tbn 91 0,65 1 28 36 390 2e KN Binmupanna 22 .
JIHTBHHIBCHKE 23 17 70 - - - 7C3(105)3C3(75) 105 0,60 1 29 40 380 2e - Ta BCHXAHHA 23 -t
JIuTBMHIBCbKE 24 5 34 - - - 10C3+bn 86 0,8 1 28 36 510 2e B nepes 25 s
SluTBHHIBCbKE 25 19 0.6 - - 9C31[13+bn 6! 0.8 1A 25 26 410 2e - e 20 o
JINTBUIIBCHKE 25 p 13 - - - 7C33/13 61 0,80 1A 23 24 364 2e s S 22 .
JINTBHHIBCbKE 25 l 27 1.6 - - - 9C31/13+bn 102 0,60 i 29 40 390 2c s . 75 s
TIMTBHUIBCBKE 20 | 7 14 |- . . 10C3 80 0,75 1A 28 36 470 2e 40 Ko




| ) ki 4 8 9 10 11 12 13 14 15 16 17 18 v
Jlwtmuineine '8 8 27,0 10C3k 61 0,80 I 22 24 380 2e caHiTapHe | Kopenena 1y6kn 40 O
Jlwrmncine o 15 6.8 10C3 61 0,90 IA 25 28 500 2¢ pyGanus Bigmupauns 40 MIETepintin
Jlurmntinerne {1l 17 1,2 8C32Co+/13 61 0,30 1A 23 28 150 2e Bubipkone | 10 newxanny A JHCHIOPHKY BTN
Jlnimnncnee 0 I8 0.3 10C3+bu+/13 66 0,75 1 24 32 380 2e - ' Jiepen 40 HE BHAIICHIO
Jtmnincike 4 0 23 10C3+/13+Bn 115 0,5 I 29 36 350 2e 10 s
Jwminee |1 4 36 8C3(102)2C3(82)+Is+Bn | 102 0,6 1 30 40 390 2¢ 40
Jinrnuminenke I\ b 1,0 9C31Bnu+/I3 106 0,6 I 29 40 393 2e - * 25 -
JInrmnnnenne 17 L S 9C313+bn 102 0,6 1 29 40 380 2e - - 25 -t
Jlwrnmtinerne 12 24 29 8C3(85)2C3(60)+ 113 85 0,75 I 27 36 420 2e - -t 40 =
Jlnrsuninense i 5 25,0 10C3k 55 0,80 1A 24 26 420 2e = Kopenena 1yGka 45 P
Jlwrsuninenke &} 7 105 10Csx+Ax6+bn 61 0,80 1A 24 26 420 2e Ry Kopetesa rybka 25 =t
Jlnrsuninenke 4 17 7.0 7C3(105)3C3(75) 105 0,60 I 29 40 380 2e x Biamupanns 25 ==
Jinrsminncine 2 2 1.0 9C31bn 105 0,60 1 29 36 380 2e X Ta BCUXanus 6() =
Jlwrnuninenke o [} 5.5 10C3+AkG 61 0,80 1A 25 28 434 2e - JiepeB 25 -
Jlurnuninenke 1 8 10,5 10Cs3 54 0,90 1A 24 26 475 2e By - 25 -
Jinrnninenke V7 3 26,0 10C3+bn 56 0,80 1A 24 26 414 2¢ - = 22 -
Jlwrsunincnke 11,3 i 16,0 10C3k+Bn 56 0,80 1A 23 24 390 2e = Kopenesa ry6xa 25 =
Jlwrsnninchke 13 5 16,0 10C3x 56 0,80 1A 23 26 410 2e - Kopenesa ry6ka 24 Bt
Jlnrsuincnie % 10 1.8 10C3 56 0,85 1A 23 26 415 2e - Biamupans 23 --
Jlwrannincnxe £ 13 14 10C3 56 0,85 1A 23 26 415 2e B Ta BCUXAHHS 25 -
Jlursunincnke 1] R 6,0 8C316n1Ak6 51 0,70 1A 22 26 300 2¢ - JepeB 25 -
Jlnrsunincike W 9 2.1 10C3 61 0,80 1A 23 28 390 2e “ - 23 -
Jinrnuninenke A0 ) 1.4 5C34Bn1AK6 18 0,85 1 8 10 90 2e B e 24 -
Jinraunincnke 40 10 1,9 10C3k 42 0,75 I 14 16 183 2¢e - Kopenesa ry6ka 22 B
JInrauninchke 40 () 0,6 10C3+C6 46 0,80 il 16 18 240 2e - BigMupanha a 60
Jlwrauminehie 40 24 7.7 10C3 55 0,8 1A 23 26 394 2e s BOMXAHIA ACpen 25 -
Jlnrnmitinenke 2 3 1.5 10C3k 56 0,40 1 20 22 168 2e B Kopenesa ry6ka 40 =
Jlwrsmnincnie 21 5 2.3 10C3k 56 0,80 I 21 22 343 2e s Kopenesa ry6xa 45 B
Kam'sicnke q 3 1,7 SC33bn2/13 71 0,4 I 22 30 160 2e - BigMupanuus 30 =
Kam'sthcnke [ 8 1,5 10Cs+/{3+bn 91 0,4 1 26 40 230 2e - Ta BCHXaHHA 45 -
Kam'sncnke 8 3 15,0 7C33/13+I'3 85 0,64 1A 31 44 393 2e - Jiepes 40 -a
Kam'suchke 11 8 12 8C31/131Bn+0¢ 66 0,60 1N 25 28 300 2e “ = 48 -
Kam'snenke 18 14 79 10C3+Bn+/13 61 0,80 1A 23 26 400 2e - - 49 -
Kam'sncnke 19 17 4.8 10C3+/[3+I'3 86 0,55 IA 29 36 360 2e - = 47 -
Kam'sucnke 19 20 54 10C3+[3+13 85 0,55 1A 29 36 370 2e - = 39 -
Kam'sicike 23 6 8.4 8C32]13 89 0,40 I 29 36 280 2¢ - - 50 -
Kam'stnenke 23 13 23 9C31/13 56 0,65 1A 23 26 315 2e B - 49 -
Kam'suchke 23 14 1.9 9C31 JI3+Kar 57 0,60 IA 24 28 290 2e e = 50 -
Kam'sutenke M 14 25 7C33/13+bn+T3 65 0,7 1A 25 28 350 2e - - 48 -
Kam'sucnke 48 4 42 9C3113+Bbn+Ax6 76 0,70 IA 29 36 440 2 - - 50 -
Kam'nncnke 45 2 13 9C31[J3+I"3 116 0,6 1 30 44 390 2e - X 49 -
Kam'suchke 46 17 28 10C3+T3 91 0,65 1A 31 36 495 2e = . 47 ==
Kam'sienke 46 22 1,1 10C3+]13 95 0,4 1 29 40 290 2 - = 50 -
Kam'siuenke 48 5 1,6 10C3+113 96 0,70 I 29 36 480 2e - X 45 -
Kam'siicnke 55 16 5,1 7C335Ine+/13+Qup+bn 53 0,75 1A 24 28 420 2e - = 48 -
Kam'sthichie 57 22 23 10C3+][3+Bn+T3 78 0,60 1A 29 32 415 2e R . 41 -
Kam'sncnhke 57 24 2,0 9C31]13+Bn+I"3+0¢ 78 0,65 1A 28 36 390 2e - - 48 ="
Kam'stucunke S8 4 0,5 10C3+/13+Bn 81 0,60 1A 28 36 370 2e = “ 43 =




— T 4 8 9 10 11 12 13 14 15 16 17 18 )
K wiicime ™ ” 47 10C3+[3+Bn+I'3 105 0,60 I 30 40 410 2e catitapie | Biamupanis S0 RIRG)
KOMIeIRe W X 23 9C31Bn+/13 105 0,55 I 30 40 360 2e pybaHHs Ta BCHXAHHA 49 Murepiin
Kamwnerwe ol 7 4.0 9C3103+bn+I3 77 0,70 IA 29 40 470 2e BubipkoBe sicpen 45 JUCHHOPH/KY BTN
Kom'MpcLwe 0t bl 315 10C3+13+bn+I3 107 0,60 1A 31 44 450 2e = - 48 HE BHAMICHO
Kum'ienne on 14 4,0 8C32/I3+bnt+Oc+'3 76 0,65 1A 28 32 415 2e - 50
[T e X 0.7 10C3+T'3 106 0,60 1A 31 40 430 2e 40
Kam'nicnne al ! 2.8 9C31[3+bn+T'3 81 0,70 1A 29 36 460 2e - s 49 AN
Kam'snenke oX 5 1.2 10C3+3+'3 81 0,65 1A 30 36 430 2e = P 49 .
Knm'snense 08 24 57 10Cs+[I3+I'3 106 0,60 1A 31 44 465 2 = - 50 .
Kam'sneiwe 70 i 5.5 7C3(91)3C3(71)+/13+Bn 91 0,75 1 29 36 490 2¢ 48
Kam'sncnuxe 71 3 40,5 10C3+/13 76 0,60 1A 27 30 370 2e -« S 49 .
Kam'anenke " [ 5.7 10C3+/{3+Bn 56 0,85 1A 24 26 450 2e B K 44 K2
Kam'sienke 4 I8 43 10C3+Bnu 61 0,80 1A 24 28 420 2 “a < 44 B
Kam'sinehke KO [ 13.5 10C3 48 0,85 1A 21 24 370 2 < = 50 .
AN ACIKG e 7 15 10C3 59 0,70 IA 23 28 344 2 “ 43 .
Kam'sHenke Kl 0 78 10C3+bn+]13 66 0,75 1 24 28 390 2 « e 48 S
KaMm'sichke 8 % 5,0 10C3+Bn+/3 81 0,70 ) 26 36 400 2 B o 47 e
Kam'sitchie 81 4 10,0 10C3 84 0,83 1 26 32 490 2 = Y 48 e
KaMm'siiicbxe 81 § 6,5 7C3(100)3C3(130) 100 0,45 I 28 40 294 2 “ - 41 e
Kam'suenke K9 5 14,5 10C3 66 0,90 1A 26 28 520 2 ‘o = 45 e
Kam'sHenke 85 7 43 10C3 51 0,80 I 17 20 260 2 ‘. B 45 -
Kam'stHehKe ' 9 2,0 10C3 121 0,55 111 24 48 240 2 By - 48 e
Kam'siichKe 85 10 1.3 10C3 59 0,80 1T 19 22 300 2 = - 49 e
Kam'sHehke 86 ] 3,7 7C3(130)3C3(100) 130 0,40 1T 29 48 254 2 = iy 50 .
A AOhKG %0 m 12 10C3+Bn 49 0,75 IA 23 26 360 2 3
Kam'siehke 86 14 1,3 10C3 130 0,55 1I 29 48 370 2 = B 50 e
Kam'sHehke 88 5 25 10C3 48 0,80 1T 17 20 260 2e = Ry 40 N
Kam'siHche 90 38 3,3 10Cs 78 0,60 I 25 32 320 2 o - 43 s

KarionaHchke 1 7 3,8 10C3 89 0,60 1 27 36 375 2e “u - 20 e
KaTinkaHchke 1 13 8.2 10C3 91 0,70 I 26 36 400 2¢ = R 45 o
KarionaHcsKe 1 16 20,1 10C3+Bn+/13 64 0,70 11 19 24 270 2e - - 45 .
Kariokascbke 14 20 18,5 10C3+/13+bn 77 0,70 I 25 28 380 2e - - 40 e
KarttoxaHcbke 34 5 0,8 10C3+/13 81 0,70 1A 29 32 460 2e = B 45 e
KaTioxKaucbke 36 39 2,1 10C3+/13 91 0,80 I 27 32 495 2e Y “ 45 N
KaTrOARCEKS T3 m 0.8 9C31]l3 73 0,65 1A 27 32 370 2e “ 20
KartoxaHChKe 77 1 13,5 10C3+bn+/[43 63 0,80 1A 24 28 410 2e = = 20 e
Karioxancbke 77 12 22 6C34bn+/13 66 0,70 I 23 28 250 2e - - 45 R
KarroxaHcbke 78 7 293 10C3+/i3+Bn 57 0,80 1A 22 24 370 2 Ry bt 20 .
KartoxkaHchke 87 4 1,6 10C3 56 0,70 IA 22 28 320 2¢ - B 45 e
KartsoaHcbke 87 5 1.4 8C315n1Bny+/13 86 0,70 I 27 32 380 2e -« -« 40 e
KaTrORaHChKe 87 m 10 10C3+Bm+/13 64 0,80 1A 25 28 450 2e 15 -
KarioxaHcbke 87 22 6.4 10C3 56 0,70 I 20 24 280 2e B e 45 B
KaTioKaHChKe 87 23 0,6 10C3k 56 0,30 1 20 24 160 2e B Kopenesa ry6ka 45 .
KaTKKaHCbKE 87 24 04 10C3+B6n 31 0,70 11 11 14 120 2e B Biamupanns 30 .
KariokKaHChKe 87 25 0.9 10C3+Bn 56 0,70 1 20 24 280 2e - Ta BCHXAHHS 45 .
KaTiowKaHCbKe 87 26 0,6 10C3 76 0,70 1 25 32 380 2e < nepes 20 N
KarioxaHchke 92 6 0,6 10C3 64 0,60 1 21 24 260 2e < - 35 R
KartioxaHcbke 92 8 2,0 10C3 64 0,60 1 21 24 260 2e R B 20 RS
KaTioXaHChKe 9 10 34 10C3k 63 0,40 1 21 28 210 2e = Kopenesa ry6xa 20 .




| 2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
Hlenenxinchke [ 2 6,1 10C3+/13 76 0,70 1 26 32 420 2¢ canitapHe | Bigmupanus 30 U0
Ilenuenkinehxe | 9 53 10C3+]13 78 0,70 i 32 36 530 2e py0GaHHs Ta BCHXAHHA 30 marepianin
[ lentenxincnke | 10 42 10C3+13 81 0,70 1A 29 36 450 2¢ BHOIpKOBE nepes 30 JCBIOPH/IKYBATIEA
Ienuenkinenke 1 12 1,8 10C3+/13 86 0,70 1 28 32 440 2e B = 35 1E BHABJICHO
[ ewtenxinenxe 2 | 6,0 10C3+]I3 81 0,70 I 27 32 420 2e B B 30 ot
1Henaenkincnxe 7 11 1,3 10C3+/13+Bu+Bny 91 0,70 1A 30 40 480 2e - = 35 -
[Henuenkinenke L] 10 1,1 10C3+bn 86 0,70 1 27 32 420 2e “a - 30 =
IlennucHKinehke 9 | 10,5 9C31/13+bn 76 0,75 1A 28 32 450 2e = B 35 -
[Hennenkinenke 9 16 0,3 10C3+Bn+/13 91 0,60 I 27 30 370 2e = = 30 -
Hlenuenkinenke 9 17 0,4 5C35bu 66 0,60 I 21 24 180 2e “u B 35 -t
[Hesenkinenke L} 18 1.4 8C32bn 66 0,70 1 24 28 330 2e - B 30 B
lenuenkincnke 9 19 89 10C3+I3+Bn 66 0,75 I 22 28 340 2e - - 35 ==
L enuenkinenxe v 22 2,0 9C31bn+113 73 0,60 I 26 32 330 2e - - 30 -
LHenuenxinenke v 20 48 9C31Bn+/13 86 0,70 1 27 32 410 2e - X 35 e
lennenkinenke 12 14 1.8 5C35/13+Bma+bn+Oc 86 0,70 1A 30 40 400 2e - - 35 -
[Tenucnkinenke 17 19 08 9C31J13+bn 86 0,70 1A 29 44 450 2e Bt ‘. 35 B
[Hesnenkinenke 17 20 0,5 10C3 76 0,70 1A 29 32 460 2e - - 30 -
Llentenkinenke 1 M 1,0 8C32/13+bn 76 0,70 IA 29 36 430 2e = B 35 B
LHenuenxinenke 12 M 04 9C31bn+/13 86 0,60 1A 29 44 370 2e - - 35 -
[Hlenuenkinenke 12 20 2,0 10C3+/[13+bn 86 0,70 1 28 36 440 2e Bt - 40 =
Hlepuenkinenke 13 | 5,6 10C3+/13 96 0,70 1A 30 36 480 2e - X 30 -
Ilenuenxinenke I 19 3,6 10C3+[(3+bn 70 0,70 1A 28 32 450 2e - - 35 -

[Hentenkinenke 19 20 1.3 8C31a31bn+5ne+I3 55 0,80 1A 24 26 390 2e = < 25 -
Hlenuenkinenke 23 1 1,4 8C32bn+/I3+Bnu 71 0,75 1 24 36 350 2e - - 30 =
Ilenienkincine k) 2 0.4 10C3 78 0,70 I 26 32 400 2e - - 30 =
[Henuenkinenie 24 5 0,7 10C3+Bn 81 0,60 I 25 36 320 2e - ‘. 30 -

1 enuenkinenke 23 13 2.1 10C3 56 0,80 1 21 24 340 2e - o 25 =
Hlenuenxinenke 23 19 2.1 10C3 56 0,85 I 21 24 370 2e = - 25 -
Hennenkinenke 24 7 88 10C3 47 0,75 1A 20 22 300 2e - B 25 e
Henienkinenke 24 21 1,1 10C3+Ak6 66 0,70 1A 25 32 380 2e - B 25 =
IHewtenkinenke 258 10 3.8 10C3+Ax6 81 0,70 1A 29 32 460 2e - - 25 -
THenuenkinenke s 23 0.4 10C3+[13+bn 63 0,70 1A 25 28 380 2e - - 25 -
Hlewienkinenxe Js 27 34 6C325Ine2]13 53 0,80 1A 22 24 290 2¢ - - 25 =
IHenuenkinenke AL IR 0,5 10C3+Bn+/13 53 0,70 1 21 24 300 2e = e 25 -
HHensenkinenke 28 Y 0,7 10C3+sI3+Bn+13 86 0,70 1A 29 36 460 2e - == 30 -
Ilenenkinchke o6 )) 0,9 10C3+/[I3+Bn+up 49 0,70 A 21 24 310 2¢ - = 25 -
[Tenucnkinenke 20 AR 23 9C31[(3+5Ine 53 0,80 1 21 24 330 2e - X 25 -
[Hessienkinenke N N 0,1 10C3 53 0,80 1 20 24 340 2e - - 30 =
Hlenicnkincine 40 ) 4.2 10C3 61 0,80 I 21 24 350 2e - = 25 -
Ulennenkinense A 1 18 6C34bn+Bnu 71 0,70 1A 26 30 300 2e - = 30 -
Ilemienkincrke " [ 13.8 10C3+Bn+/I3 86 0,70 1 28 32 440 2e 25
Ulenuenkinenwe A4 14 37 10C3+[13+Bn 86 0,70 I 27 36 435 2e - - 30 -
Lenscnkinenke A2 2 2.3 10C3+/13+bn 86 0,70 1 28 32 440 2e - = 30 ==
[Tlenucuxinenke 42 0 2.4 10C3+[13+Bn 91 0,70 1A 30 36 495 2e - = 35 -t
Hlenuenkinenke A4y (R} 2.7 10C3+/13+bn 77 0,70 1A 28 32 440 2e - = 30 ==
Henucnkinenke Al 17 11 10C3+Bn+/13 86 0,60 1 26 32 340 2e - - 30 =
Hlenicukinenwe A 19 4,0 10C3+]/I3 57 0,80 v 10 20 120 2e - = 25 -
Hlenienkinenne AR 5 205 10C3+Bn+Ax6 54 0,85 1 21 26 380 2e - - 25 B




! ) 3 4 8 9 10 11 12 13 14 15 16 17 18 19
[Henuenxincnwe AR 6 4.1 10C3+bn 56 0,70 1A 23 28 355 2e caHitapHe | Binmupauns 25 A0
Slenoropojicike 0 23 11,0 10C3 49 0,70 1 19 24 260 Je py6aHHs Ta BCHXAHHS 25 MaTepinIn
SCHoropojIcLKe 7 8 15,0 9C31bn 37 0,80 11 13 16 160 3e BHOiIpKOBE aepes 25 JICBHOPAUCY BT
Slenoropusicnke 7 20 1,5 10C3+Bn 37 0,70 1I 12 16 130 2e B = 30 1C BHAWICHO
Slenoroposicnke 10 3 490 7C3x3C3 63 0,80 11 20 24 315 3e - Kopenesa rybka 25 -t
Slcnoropojienke 11 10 20,0 5C3x(62)5C3K(55) 62 0,70 1 20 24 245 3e = Kopenena rybka 30 -"-
Slenoropojienke 14 Ll 9.5 10C3 49 0,70 I 16 20 200 3e - BiamupanHs 25 -
Slenoropoacuke 14 O 5.8 10C3 59 0,80 1 21 24 340 3 - Ta BCUXaHHA 40 ="-
Slenoroposienke 14 8 15,1 10C3 56 0,80 I 19 24 310 3e - aepes 25 -
Senoropojichke 15 4 1,1 10C3 40 0,70 1 16 18 200 3e a - 25 -
Scnoropoacnke 15 [ 6,0 8C3(47)2C3(67) 47 0,80 111 12 16 170 3e “a o 20 ="
Slchoropojienke 15 9 1,0 10C3 50 0,70 111 13 18 150 3e - X 30
Scuoropojcike 15 10 3.5 10C3 50 0,80 11 17 22 260 Je - - 30 -
Slenoropojienke 15 20 09 8C3(47)2C3(61) 47 0,80 )i 16 20 240 3e - = 40 -
Slenoropoachke 15 24 1,0 10C3 59 0,75 11 19 22 280 2e - e 30 -
Slenoropojenhke 1o 34 0.8 10C3 48 0,70 1 16 20 210 3e “- - 40 -
Slenoropojienke 16 35 2.1 10C3k 49 0,70 It 17 20 230 3e s Kopenesa ry6ka 20 B
Slcnoropojichke 19 7 0,6 10Cs3 51 0,70 1 19 22 260 3e - Bigmupanns 12 25 -
Slenoropojicnke 19 9 1.6 10Cxp 51 0,70 1T 17 24 310 3e s BCHXaHHA AepeB 15 -
Scnoropojichke 19 10 0,5 10C3k 53 0,40 11 18 22 155 3e - Kopenesa ry6ka 30 -
SleHOroOpoACHKe 2 | 03 7C3(62)3C3(52) 62 0,80 1 20 26 320 3e “o Binmupanns 20 -
Slenoropojicnie 21 2 0.8 10C3 52 0,80 1A 22 24 370 3e - Ta BCHXAHHSA 15 -
SICHOrOpOIEHKe 21 4 1.8 10C3 50 0,70 I 20 26 280 3e = fepes 40 =
SleHoropojicnse 21 4 14,5 6C3(60)4C3(60) 60 0,70 il 19 22 240 3¢ - = 20 =
SICHOrOpOJICHke 21 13 4.4 10C3 62 0,80 I 22 24 370 3e - = 20 ==
Slcnoropojicnke 21 18 10,9 10C3 62 0,80 Jig 18 24 310 3e - - 15 -
Slenoropojehke 21 22 10,2 10Cs 62 0,70 1 21 26 300 3e % - 30 -
Slenoropujicke 2 | 23 10C3+bn 56 0,80 1 19 24 290 3e o o 30 -
Slenoropojicnie 22 2 0,3 10C3+bn 56 0,80 i 19 24 290 3 - o 40 -
Slenoropojienke 2 3 0,2 10C3+bn 59 0,80 11 17 22 260 3 o < 25 -
Slenoropoaenke 22 5 0,7 10C3+bn 59 0,80 I 17 22 260 3 - - 30 -
Slenoropojicnke 2 29 0.8 10C3 52 0,70 I 17 22 220 3 - - 15 ==
Slenoropojienke 23 32 0,5 8C3(62)2C3(52) 62 0,70 11 19 24 230 3 - . 20 -
Slenoropoacnke 24 15 4.8 9C3(48)1C3(66) 48 0,80 I 13 16 180 3e - - 30 X
SlcHoropoJenke 24 22 0,3 10C3 62 0,70 I 22 26 320 3 - - 15 -
Slenoropojchke 28 4 21.8 10C3 60 0,70 It 19 24 260 3e X - 15 -
Slenoropojienke 25 8 29 4C3(54)6C3(41) 41 0,70 I 20 24 200 3e - - 25 -
Slenoropajicike 25 9 12,6 10C3x+CB 63 0,70 1 22 26 330 3e X Kopenesa rybxa 20 s
Scnoropojchie 25 26 1.3 6C3(62)4C3(36) 62 0,60 1 21 26 240 3e - Bigmupanus 30 -
Slenoropojcnke 25 29 0,3 6C3(62)4C3(36) 62 0,60 I 21 26 240 3 L Ta BCUXaHHS 20 -
SleHoropoehke 28 42 38 7C3(61)3C3(51) 61 0,70 I 21 26 290 3 - JIepeB 25 -
SIcHOropojichke 20 10 1,6 10C3+[(3+Bn 81 0,80 1 24 30 420 3e - == 25 -~
SICHOTOPOCHKC 8 1 2,0 10C3 61 0,80 1T 19 28 300 3 - - 25 -
Scnoropojichie 8 3 29 10C3+bn 62 0,80 I 20 22 320 3 = = 30 -
Scnoropojicnke 28 7 34 10C3 62 0,80 1T 19 26 310 3 X - 15 =
Slenoropojicnke 28 11 3,1 10C3 63 0,80 )i 19 26 300 3 X - 35 -
ScHOrOpOJIChke o8 14 1,1 9C31bn 42 0,70 1T 14 20 170 3 - =« 25 =
Slenoropojichke I8 16 1,1 8C3(66)1C3(48)1C3(76) 66 0,70 1 18 24 210 3 “u - 25 -




1 ? 3 4 8 9 10 11 12 13 14 15 16 17 I8 19
slenoroposichie {q 14 14 10C3 56 0,80 ) 21 26 340 2e caditaphe | Binmupanns 20 i
slenmopoaciie 1 12 30 10C3+bn 56 0,70 1 21 28 300 2e pyOaHHs | Ta Bouxaius A0 MITepintin
Slenoropojenke 1 O 12,0 8C32/13+0c¢ 61 0,70 I 18 26 230 4e BHOIpKOBE nepen 25 JCHIOPS/AKY BIHIIN
Slenoropostenke 32 L 3,3 10C3 79 0,60 I 21 28 260 4e - - 35 11E SHARICHO
Slenoroposchke R 16 47 7C32/131Bbn+Oc¢ 61 0,70 1 20 26 230 4e - - 30 -
Slenoroposense 3 O 6,2 9C31 13 61 0,70 1 21 24 280 3e - - 25 =
Senoroponcike R} 9 54 9C31 13 61 0,70 1 21 24 290 3e - - 35 -
Slenoropoienke 33 14 2,6 8C32bn+O¢ 71 0,70 1 25 30 320 3e -« RS 15 -
Sicnoroposenke 3 18 22 8C32[13+bn 53 0,80 I 19 22 250 3e = = 40 -
Slenoropojcnke AR} 19 33 9C31[13+bn 56 0,70 1A 22 28 300 3e - - 25 -
Slenoroposienke 3 20 2,0 6C34]13 51 0,70 1A 22 28 310 Je - - 40 ="-
Slcnoroposenke M 15 0,3 7C32]1316n 71 0,70 1 23 28 250 3e - - 20 -
Slenoropojichke AZ] 17 44 10C3 53 0,70 1 19 22 260 3e X - 20 -
Slenoroposenke Rh] 15 34 8C3x1/[3+1bn+0c 53 0,80 I 20 24 300 3e = Kopenesa ryGka 20 =
Slenoraposncnke As 16 8.3 10C3k 59 0,80 I 22 26 390 3e = Kopenesa ry6ka 30 -
Slenoroposicike s 17 28 10C3k 59 0,80 11 18 22 290 3e - Kopenesa rybxa 20 -
SlcHoropojiehke kb 20 0.5 7C3(76)3C3(55) 76 0,80 I 20 32 300 3e - Biamupanus 40 -
Slcuoropojicnke s 21 0.9 10C3 61 0,80 11 18 22 280 3e “ Ta BCHXaHHA 20 =
Slenoropojienke RN 22 6,4 10C3 59 0,80 I 22 26 370 3e - Jepes 30 -
SlcHoropojienke s 23 1,4 8C3(48)2C3(61) 48 0,70 I 16 20 220 3e o - 20 -
Slenoropojichke 36 2 16,5 10C3k 59 0,80 I 19 24 315 3e “a Kopenesa ry6ka 40 -
Slenoropuicnke 6 10 49 7C3(48)3C3(66) 48 0,85 111 12 18 170 3e X Biamupanus 25 -
Slenoropojichke 30 12 28 10Ca+bn 48 0,70 11 16 18 210 3e “u Ta BCHXAHHA 20 -
Slenoroposicke 37 4 1,1 10C3 48 0,80 1A 20 26 320 3e - Jepes 25 -
Sleuoropoichke 39 2 03 8C32Bn 32 0,60 )i 10 12 90 2e - B 40 -
Slenoropojicnke 9 [ 0,5 10C3 48 0,70 1 17 22 220 2e - - 30 =
SlcHoropoachke 39 3 0.7 10C3 48 0,70 11 16 20 200 2e = - 20 -
Slenoropojienke » il 0,5 10C3 49 0,70 I 12 14 130 2e - - 30 =
Slenoropojenke 39 ] 5.5 10C3 48 0,80 1 18 24 260 2e - -a 35 -
slcnoropoicnke 10 Il 96 8C3k2Bn+0Oc 48 0,80 1A 22 28 360 2e = Kopenesa ryfxa 15 -
slenoroposicnke ) 12 36 10C3 48 0,70 111 12 16 130 2e X Biamupanss a 20 -
Slenoroposenke 4l 1 7.8 10C3 54 0,80 1 21 26 340 4 - BCHXAHHS e 35 -
Slenoroposchke 11 2 13,0 10Cs3x 54 0,85 1 21 26 380 4e - Kopenesa rybxa 25 -
Slenoropojicnke 4 3 4,0 10C3+Bn+]13 76 0,70 1 25 30 380 4e - Bigmupauus 20 -
Senoroposienke 14 13 6,6 10C3 53 0,80 I 18 24 280 4e - T BCUXAHHA 30 ==
SleHOropOACHKe 44 14 6,4 10C3 53 0,80 11 18 24 280 de - Jiepes 25 -
Scnoropojicnke AS 1 20 10C3 51 0,70 1 20 24 280 3e - - 20 --
Slenorapojtehke 45 8 7.0 10C3 52 0,80 I 17 22 260 3e - - 40 -
Slenoropajienke 45 10 34 10C3 52 0,80 )i 17 12 270 3e B e 15 -
Slenoropojienke 45 i 26 10C3 52 0,80 il 17 22 260 3 o e 35 -
Slcroropocike 15 13 1,2 10C3 52 0,80 I 17 22 270 3 - - 25 -
Slenoroposehie A6 8 0,5 8C3(71)2C3(48) 71 0,50 1l 19 28 170 3 - X 30 -
Slenoroposienke A6 19 2.7 9C3k1C3 52 0,70 1 19 24 260 3e -5 Kopenesa rybxa 35 -t
Slenoropoienke A6 25 1,2 10C3+bn 52 0,80 1 19 24 300 3 - Binmupanus 25 -
Slenoropojcnke 40 20 0.9 10C3 61 0,70 I 22 26 320 3 = Ta BCHXaHHA 15 -
slenoroposcnxe 47 1 2,6 10C3 51 0,70 1I 17 22 220 3 - Zepes 40 -
Slenoroposcnke 47 5 1.4 8C3(61)2C3(71) 61 0,70 I 21 28 310 3 - = 30 -
Slenoropojienke 47 16 18,4 10C3 51 0,85 I 17 22 270 2e - - 20 ==




| ) 3 4 8 9 10 11 12 13 14 15 16 17 18 19
Slenotoposenne S0 3 5,0 9C31[3+bn 62 0,70 I 23 28 310 4e caHiTapHe | Biamupauus 20 AU
slenoropoaenke S0 4 4,7 10C3+bn 58 0,80 1 22 28 370 4e pybaHHs Ta BCHXaHHA 30 MATEpiniin
Slenoroposieike 50 0 1,2 8C32/3+0c 81 0,60 1A 29 44 370 4e BHOipKoBe nepes 25 JCBHOPAKYBUTIR
Slenoroposenke 50 7 1,6 10C3 63 0,70 IA 24 26 360 4e - - 15 HE BHARICHO
Slcnoropojienice 50 9 0,6 10Cs+]I3+bn 61 0,70 1A 24 26 360 4e = - 20 e
Slenoroposterse s2 4 2.4 10C3+bn 40 0,70 111 11 20 110 3e = - 25 ="'
Sleioroponctke 52 8 1,2 10C3 64 0,80 01 17 22 230 3e - - 30 X
Slenoroposien ke 53 6 0,3 10C3 75 0,60 I 25 36 320 4e -- - 20 =
Slcnoropusichke 53 8 3,7 10C3 44 0,40 1 18 24 185 4e X = 30 -
Slchoroposicnre bR} 9 7.0 10C3k 44 0,85 1 18 24 305 4e X Kopenesa ry6xa 25 ==
Slcnoropojienke 53 22 0,9 10C3 52 0,90 1A 21 24 380 4e = Biamupauus 25 -~
SlcHoropostenke 54 2 11,7 10C3+bn 61 0,80 11 19 22 300 3e X Ta BCHXaHHs 40 =
Slenoropajtenke 54 1 0.8 10C3 61 0,80 I 20 26 330 3e - nepes 40 -
Scnoroposicnke 5 5 1,6 10C3+Bn+Oc¢ 66 0,70 1 24 32 370 3e - - 30 =
Slenoroponcnke SS 3 3,2 10C3k 61 0,90 I 19 22 330 3e B Kopetesa ry6ka 35 B
Slcnoropojachke 55 6 2,5 8C3(57)2C3(66) 57 0,90 I 17 20 290 3e - Biamupanus 40 -
JcHoroposcnke 57 21 39 10C3 61 0,80 1 20 26 320 3e - Ta BCHXaHH 25 -
ScHoropojenke 57 23 32 10C3 51 0,80 I 19 22 300 3e = JiepeB 25 =
Slcnoropojicnke SR 28 4,6 10C3 47 0,80 1 17 20 260 3e - - 40 -
SAcnoropojicike S8 29 6,0 9C31Bn 39 0,85 I 15 16 220 3e o - 25 -
Slenoroposcnke SK 54 0,6 10C3 61 0,80 I 20 26 320 3 X - 25 -
Scnoroposicike 58 55 0,9 10Cs3 61 0,80 1 20 26 320 3e “ e 15 -
Scnoroposcike 59 I 1,8 10Cs 48 0,80 I 16 24 230 3e - - 20 X
Scnoropojichke 60 21 4,8 10C3+bn 51 0,80 1 18 24 280 3 = B 20 .
Slcuoropojichke 63 4 67,5 10C3+Bn 44 0,80 1 17 22 240 3e B = 30 <

SAcnoropojcnke 63 5 0,5 10C3 60 0,80 il 16 22 230 Je B ‘o 25 =
SlcHOrOpOAIEKKE 63 8 4,1 8C3(63)2C3(63) 63 0,70 I 21 26 300 3e - o 25 -
Jlninponchke 5 7 4,5 9C3(81)1C3(66) 81 0,65 I 24 30 345 4e - - 40 -
Jtinposcike 7 | 2.0 9C31Bn 49 0,80 1A 21 22 340 4e “o = 40 -
Jlinponcnke 1 11 5.3 10C3 82 0,70 b 23 28 350 4e X - 40 -
Jlninponcuke 12 2 6,2 10C3 87 0,70 1 23 28 340 4e = = 40 -
Jlinposenke 13 1 09 10C3 64 0,70 I 21 22 310 4e e - 40 -
Jlninposcike 13 23 2.6 10C3+bn 56 0,70 1 21 22 310 4e B - 40 =
JAninponchie 16 24 1,2 9C3(86)1C3(96)+bn 86 0,65 Il 24 32 340 4e - - 40 -
Jninponchke 17 10 3.0 10C3+bn 75 0,70 u 22 24 330 de - = 40 ~-
JIninponchke 17 12 6,2 10C3+Bn 54 0,70 I 21 22 300 4e - - 40 -
JIHInponehke 18 12 0,6 10C3+bn+/13 57 0,70 1 21 20 310 de X u 40 -
Juinponcnke 18 15 7.5 10C3+/[3+Bn 51 0,85 1 19 18 320 4e X X 40 =
JIHitpoBeLKe 18 24 1,6 10C3+Bn+/I3 66 0,65 I 23 26 330 4e - = 40 -
JlninponcLke 19 13 1,9 10C3+bn 87 0,60 1 25 32 340 4e = = 40 -
Juinponchke 19 15 1,5 10C3 76 0,65 I 23 28 335 de - e 40 -
JIHinponchke 26 10 1,1 10C3+Bn+Bnu 56 0,70 1 20 20 290 4e “, =« 40 -
Jluinponchke 20 22 1,0 10C3+Bn 96 0,60 il 25 32 330 4e = - 40 ==
JHinposcnke 20 28 0,5 10C3+Bbn 86 0,60 1 25 28 330 4e R Ry 40 -t
Juinponenke 20 29 29 10C3 91 0,60 I 26 32 350 4e - B 40 -t
Jninponchke 20 31 0,9 10C3+Bn 91 0,60 1 26 30 340 4e - = 45 -
Jlinponchke 20 35 1,1 10C3+Bn+/13+Bmy 54 0,65 1A 22 22 310 4e = - 45 -
Jlninponcnke 27 17 1,6 10C3+bn 66 0,60 I 24 30 310 4e - B 40 -




1 ? 3 4 8 9 10 11 12 13 14 15 16 17 18 9
Jinponenke 27 21 20 10Cs3+bu 87 0,60 1 25 28 340 4de caHiTapHe Binmupanus 45 Wi
Jininponchke 27 3 1,6 10C3 66 0,70 1 24 24 370 4¢ pybaHhsi Ta BCUXAHHA 40 Murepintin
Jltinponerke 27 24 1,1 10C3 54 0,70 I 21 22 310 4e BHOIpKOBE Bepes 45 HICHMIOPA/IKY BaRIIA
Jlninponenke 27 26 2,6 9C31/13+bn 76 0,65 1A 27 32 360 4e - = 45 1E BHABIICHO
Jninponcike 27 27 1,7 10C3(66)+C3 66 0,65 1A 26 32 380 4e X - 40 -
Jlninponcne 29 14 80 10C3 53 0,70 I 21 22 300 3e - =< 45 -
JlHinponchke 30 3 4,0 10C3+Bn 63 0,75 I 21 22 330 3e - B 45 -t
Jlninponcuke 30 12 2.8 7C3(46)2C3(56)16n 46 0,70 1 17 18 220 3 X - 40 -
JlHinponchxe 6 5 1,1 10C3+/13 76 0,70 1 23 24 350 4e - - 40 =
Jninponcuke 1l 6 7,0 10C3 86 0,60 I 26 32 340 3e = = 45 Bt
Jluinposcnke 43 1 21,2 10C3 85 0,70 1 26 28 405 3e - - 45 -
JlHinponcike 43 5 19,5 10C3 86 0,70 11 24 28 365 Je - - 45 -
Jltinponcnke A4 20 0,9 10C3 76 0,70 il 20 24 290 3e - B 40 Pl
Jlninponcike 45 8 4.6 10C3 76 0,70 11 21 24 310 3e - = 40 -
Jlninponcike 47 4 59 9C31Bn+/[3+I'3 69 0,70 1 24 28 350 4e - - 45 --
Jlninposchke 48 1 9,0 10C3+Bn+/13 64 0,80 1 23 24 395 4e = - 45 -
Juinponcike S0 30 0,9 10C3+Bn 67 0,70 1A 25 28 380 de - - 40 -
Juinposenke 52 4 1.4 10C3+Bn 54 0,85 I 21 22 360 4e B < 40 -
JIHinponenke 52 9 4.6 10C3+Bbn+/13 87 0,70 1 27 36 420 4e - X 40 -
Jutinponcuke 53 6 13,0 9C31Bn+[3+51ne 44 0,85 1L 16 18 230 4e = ‘. 35 -
Huninponchxe 54 12 22 10C3+Bn+/13 52 0,75 1A 21 22 330 4e - - 40 -
Jtinponcuke 54 28 12,5 10C3+Bn+/(3 68 0,65 1 24 26 330 4e - - 45 -
JlHinponchbxe 54 32 1,6 10C3+bn+[3 66 0,65 1A 26 32 370 4¢ = - 40 -
Jlninponcike 55 8 3,1 10C3+bn+JI3 61 0,60 1A 24 28 310 4e - = 40 -
JIHInpoBCchKe 50 5 1,5 9C3143+0c¢ 39 0,89 1A 19 20 310 e B - 40 -
Jlinponenke 56 19 1,7 5C33[1326n 66 0,50 I 24 28 190 4e = = 40 =
Jlinponcuke 57 3 1.2 10C3+/13 88 0,60 1 26 36 350 3e - - 40 -
JlHinponenke 57 36 28 10C3+Bn 82 0,70 I 25 28 390 Je X - 40 RS
Jlninponenke 57 38 22 10C3 74 0,65 1 25 28 360 3e - - 45 -
JlHinponchxe 57 40 38 10Cs 86 0,60 I 25 32 330 3e % X 40 e
Jlninponcnke 58 25 32 10C3 61 0,70 1A 23 22 350 3e B e 40 P
Jlninponcuke 58 26 3.2 9C31bn 61 0,75 I 21 22 300 3e X <, 40 ==
Jlzitponenke 58 34 34 10C3+bn 71 0,65 1 24 30 340 3e < B 45 -
Jlninponcnke 58 37 03 10C3(61)+C3(81) 61 0,60 1 22 22 285 3e X B 40 -
Jlninponcnke 59 4 0,5 10C3+[13+T'3 86 0,60 I 28 32 380 3e % = 40 X
Jluitponcnke 59 10 23 10C3+Ak6+bn 66 0,60 1A 26 30 340 3e “o B 40 B
Jininposcuke 59 15 7.4 10C3+]/I3+Bn+I"3 91 0,65 1 29 36 430 3e o e 40 -
Jlninponchse 63 1 09 10C3(74)+C3(56) 74 0,70 11 20 24 290 3e . - 35 -t
Juinposcnke [iK! 6 7.7 8C3(85)2C3(65)+/13+bn 85 0,66 11 23 26 325 3e - - 40 =

Jltinponense 6} 11 1,8 5C3(61)4C3(71)1(3+bn 61 0,60 1 21 26 250 3e - - 40 -

Jlninponchke 03 17 0.7 10C3 86 0,60 il 23 28 290 3e e - 35 -
Jlninponcnke 03 IR 5.5 10C3 76 0,63 11 20 24 260 3e - R 40 B

Jlninponcuke o8 4 4.6 10C3 54 0,83 1 21 22 360 4e o - 35 -~
Jlninponcnke 70 20 23 10C3+/(3+bn 64 0,60 1 23 26 290 3e - = 35 =t
Jlinponcnke 71 3 1,2 8C3(58)2C3(65)+bn 58 0,65 1 21 22 290 3e X - 40 -
Jlninponenxe 71 5 29 10C3+/I3+Bn 49 0,85 1A 21 20 370 3¢ a = 45 -
Jlninponenke 71 O 0.9 10C3+Bn+/13 64 0,65 1 21 24 290 3e - - 35 =
Jltinponenike 71 12 2,0 10C3+/[3+bn 51 0,75 1A 21 22 330 3e - K 45 s
Jlninponenke 78 15 0,5 10Cs3 60 0,70 1 22 20 335 4e - = 40 St
Jlinponeike 78 20 22 10C3+bn 68 0,65 1 22 28 300 4 - - 35 --
Jlinponenie 7 1 11,1 10C3 52 0,75 1A 21 20 325 de - P 45 =




| 2 3 4 8 9 10 11 12 13 14 15 16 17 18 (]
Jlinponchxe 79 5 12 10C3x 42 0,70 1 16 16 215 4e caHiTapHe | Kopewesa ryGxa 40 IO
Pyjumsncuke 1 19 4,1 6C3(51)4C3(75) 51 0,60 11 15 18 190 4e pyOaHHs BiaMupanHs 45 Mirepiaiin
Pyjumncenke 3 25 1,9 10C3 75 0,60 11 22 28 270 4e BUOIpKOBE | Ta BCHXaHHA 30 JHCRIOPAJIKY BTN
Pyusincuke 1 7 2,8 10C3 53 0,70 1 21 22 300 4e = fiepes 45 1IE BUSARNICHO
Pyjuisncnke 9 25 1,3 7C32/131Bn 115 0,60 i 28 36 320 4 a e 20 -
Pyjuisincuke 9 30 1,4 7C31134Bn+0Oc¢ 46 0,70 1A 20 20 230 4 o - 45 =t
Pyansnchre 10 18 4,7 10Ca+3+bn 90 0,65 I 26 32 370 4e a < 45 -
Py;uisncoke 1} 21 3,7 10C3+/{3+bn 84 0,70 I 26 32 400 4e e - 45 -
Pyjustitchxe 11 s 4,2 10Cs+[3+Bu 50 0,75 1A 21 22 330 de . - 25 -
Pyausitcnke 16 13 1.4 10Ca+[3+Bn 79 0,65 1 24 28 330 de % - 30 -
Pyansichice 16 24 3.1 9C31bn+/13 66 0,70 1 23 24 310 de “a - 45 -
Pyuincuke 20 1 3,5 9C31Bbn+I'3+[3 71 0,55 I 25 36 310 4e e - 30 -
Pytisincie 20 22 0,5 9C31bn+/13 64 0,70 1A 25 28 360 4e X 20 -
Pyjnsnenke 20 30 3,8 5C316n2/131T'p31Oc 61 0,70 I 20 28 270 4e “a - 25 -t
Pysnsucnke 24 25 2,1 9C31Bn+/I3+Bmu 52 0,85 1 20 18 310 4 “u - 15 RS
Pyjusnenke 25 8 49 10C3+/13 56 0,85 1 21 20 360 4e - - 20 -t
Pyansicnke 26 7 29 5C3(76)2C3(9§;‘C3(86)25“+ 76 | 060 I 23 28 270 de 45
Pyjuisncnke 31 9 1,3 10C3+Br+T3+113 76 0,60 1 26 36 340 4e X - 45 -
Pyansichke ER] 14 6,8 8C31Bn10c+3+3 76 0,70 I 26 28 380 4e = == 40 ==
Pyuismenke 34 11 43 8C32bn+/3+I3 71 0,65 1 25 28 310 4e = - 20 -
Pymsncike KN 2 7.6 10C3+bn+](3 67 0,70 1 23 26 340 4e - - 18 -a
Pyjmsnenke 15 5 12,0 10C3+Bn 61 0,80 1 18 20 280 4e - = 28 -
Pyjuisnenke 36 24 0,6 10C3+Bn 63 0,65 1 22 24 300 4e - - 45 =
Pyansuchke 37 [} 3,0 10C3+bn+/{3 53 0,70 1 21 20 310 4e X - 25 =
Pyjumsncnke 37 12 2,4 9C31bn 45 0,70 1A 20 20 250 4e - - 20 -
Pyjmsinenke 37 18 52 10Cs 54 0,75 1 21 22 320 4e <, - 20 -
Pyunancnie 37 36 1.3 9C31Bn 40 0,80 I 17 18 260 4 - - 45 -
Pytisincnke 42 4 1.8 10C3+Bn+]I3 51 0,85 1 19 20 320 4e - - 60 -
Pysusicnke 45 17 1,0 10C3+03+bn 57 0,85 b1 17 18 280 4e < - 45 -
Pyuisucuke 50 20) 39 10Ca+/I3 66 0,70 I 22 26 320 4e - - 35 X
Pyamsiicike 51 11 0,6 10C3+/3+Oc+Bn 86 0,70 1 25 36 380 4e = - 35 *
Pyuistenke 53 12 8.5 10C3+Bn+/13 71 0,70 1 24 28 360 4 B - 45 X
Pymsncike 54 s 1.4 10C3+bn+/13 76 0,70 I 25 28 380 4e - - 30 -
Pyansichike 54 10 354 9C31bn+/13 66 0,80 1 21 22 340 4e = = 40 K
Pyjusicike 56 25 1,1 10C3+/I3+Bn 87 0,50 1 25 32 270 4e - - 45 -
Pymsicixe S8 14 1.3 9C31bn+[3 82 0,65 1 24 30 300 de - - 25 -
Pyutsenke 60 11 1,0 9C31Bn+/13 63 0,70 1 23 24 310 4e = - 45 -
Pyansncnke ol) 13 1,0 9C31Bm+/I3 63 0,70 I 22 26 310 4e - - 40 -
Pyusnenke ol 8 22 9C31[(3+Bn 82 0,70 I 21 24 350 4e - - 20 -
Pyusncike 05 3 0.8 10C3+/I3 82 0,70 1 25 30 380 de s e 35 -
Pyansincnxe oY 6 0,5 10C3+/13+bn 86 0,60 1 25 30 330 4e - = 15 -
Pysustiichke 74 10 1.5 9C31]13+Bn 66 0,60 1A 25 28 330 4¢ - - 45 -
Pyussineike Kl 1 03 65InedCs+/I3+bn 57 0,70 1 19 20 310 4e - - 30 -
Pysuisincixe 83 23 0,7 9C313+I'3 61 0,65 1A 24 24 340 4e - - 40 -
Pyjusncnke 84 20 0,5 9C316n+/13 66 0,70 1 23 24 300 4e - - 45 <
Pyjisncike RS 3 9,1 9C31Bn+/13 66 0,70 i 23 24 310 de - - 40 -
Pyansncnie K7 | 1,6 9C31Bn+/I3 64 0,70 1 23 24 310 4e B - 45 -
Pysusticnke vl | 1,0 8C32/13+Bmu 121 0,60 1 26 44 320 3¢ B - 45 -
Pyjnsncnke 9 7 0,2 10C3 76 0,60 I 24 26 310 4e - - 35 -
Pyjuancnke v 2 0,7 10C3+bn+/13 50 0,70 I 20 22 290 4 - B 45 -
Pytisiicnxe V) 24 1,6 10Cs+Bn 76 0,65 1 24 26 330 de - - 35 ="
Pyjumsnenke ) 56 0,3 10C3+bn 40 0,70 1 17 20 220 4 = Bt 45 =t




| o

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Pynusncobke 92 57 39 - - - 10C3+Bn 40 0,70 1 17 20 220 de caHitapHe | Biamupanus 40 S0
PyaHANCbKE 92 64 2,5 - - - 10C3 51 0,75 1A 21 20 320 4e pybaHHA Ta BCUXaHHA 40 MUTEpinIn
PyRHSHCbKE 95 6 0,5 - - - 7C33Bn+0c+/I3 83 0,60 1 25 40 260 4e BHOipKOBE nepes 45 JHCBUIOPAIKY BUTHS
PyAHSHCBKE 95 7 1,0 N - - 10C3 50 0,80 1 20 20 340 4e = - 45 116 BUARJICIIO

KatiokaHcbke 2 14 7,1 (1) 0,5 0,5 10Cs+/13 66 0,80 11 20 24 330 2e caHiTapHe - 246 -
Karioxanchke 2 14 7,1 (2) 0,5 0,5 10C3+[13 66 0,80 I 20 24 330 2e pyGaHHs B 242 .
Karoxamcbke 2 26 08 M | o2 02 10C3 86 0,60 Il 24 32 320 2¢ CyLlibHe 260
Katioxancbke 2 25 2,3 (1) 0,5 0,5 10C3 66 0,70 I 20 24 280 2e e - 192 -
KatiokaHcbke 2 25 2,3 (2) 0,6 0,6 10C3 66 0,70 )i 20 24 280 2e on = 213 =t
KaTioxaHchke 3 18 1,2 (18] 0,4 04 10Ca+/i3+bn 64 0,70 1 22 28 320 2e S - 245 -
KarioxaHcbke 37 21 0,3 (1) 0,2 0,2 10C3+/13 83 0,70 1A 29 32 460 2e = -a 295 e
KariomaHcbke 37 22 1,0 1) 0,4 04 10C3 76 0,70 1A 27 32 420 2e e == 270 e
KarioxaHcbke 47 18 6,5 (49 0,1 0,1 8C32Bn+[13+0Oc¢ 66 0,80 I 24 32 340 2e e -a 230 .
KatiomaHchKe 47 19 6,8 (1) 0,3 0,3 9C31Bn 63 0,80 1 23 28 400 2e -a - 210 -
KaTioxaHCbke 51 5 0,8 (1) 0,6 0,6 10C3+Bn+/13+Tb 64 0,60 1A 25 28 320 2e - B 292 B
KatiomaHcbke 51 21 13 (1) 0,3 03 10C3 91 0,30 )i 25 36 205 2e - - 233 8
KarioxaHchke 62 13 4,7 €8] 0,6 0,6 10C3+Bn 66 0,70 1A 25 28 380 2e - B 188 =
KarioxaHcbke 62 18 2,9 1) 0,5 0,5 10C3+13+bn 53 0,80 I 20 24 320 2e e = 206 -
PynussckKe 6 28, 2,1 M | 09 0,9 7Ca(91)3C3(75) 91 0,60 I 21 36 230 4 153
Pynnsucbxe 6 28 2,1 2) 0,2 0,2 7C3(91)3C3(75) 91 0,60 1 21 36 230 4 B = 125 -
PynusHCbke 25 8 49 (¢))] 0,5 0,5 10C3+13 56 0,85 1 21 20 360 4e e = 304 B
PyIHSHCbKE 42 4 1.8 M | o5 0,5 10C3+Br+[i3+13(90) 51 0,85 1 19 20 320 de 260
PynusHceKe 54 4 1,1 a | o1 0,1 9C31/1s 7 0,65 1 24 28 310 4e S 300
PynHsHCbKe 54 5 1,1 (1) 0,7 0,7 10C3+[3+Bn 76 0,70 1 25 28 380 4e e - 306 e
PynsHChke 54 s 11 @ | 05 0,5 10Ca+3+Bn 76 0,70 I 25 28 380 4e 276
PynHAHCbKE 54 10 354 [€))] 0,9 0,9 9C31bn+/13 66 0,80 I 21 22 340 4e - - 168 e
PyusHCbKe 54 10 354 | @) | 06 0,6 9C31Bn+]Ia 66 0,80 1 21 22 340 4e 160
PyansHceke 2 15 49,0 Q)] 0,9 0,9 10C3 51 0,70 1A 21 20 300 4e - B 203 e
PyauaHcexe 2 15 49,0 (2) 0,8 0,8 10C3 51 0,70 1A 21 20 300 4e = - 203 -
PymusHcbke 2 15 49,0 (3) 0,7 0,7 10C3 51 0,70 1A 21 20 300 4e - = 200 =
PysHsHCbKE 9 14 8,0 D) 0,8 0,8 9C31Bn+I3 43 0,80 1 18 18 260 de o 205
PynHSHCbKE 9 14 8.0 (2) 0,4 04 9C31Bn+/{3 43 0,80 1 18 18 260 4e B = 193 -
PynHsHCbKe 20 30 4,3 (1) 0,8 0,8 S5C31Bm2[{31I'310¢ 61 0,70 1 20 28 260 de -a -“a 229 =
PyAHSHCbKE 25 8 49 () 0,7 0,7 10Ca+/13 56 0,85 1 21 20 360 4e = B 334 =
Pynusnceke 37 12 2,4 (1) 0,4 0,4 9C31bn 45 0,70 1A 20 20 250 4e - = 235 -
Pynsancbke 37 18 5,2 ) 0,5 0,5 10C3 54 0,75 1 21 22 320 4e - = 300 -
PyaHsHCbKE 37 18 52 (2) 0,7 0,7 10C3 54 0,75 1 21 22 320 4e - e 353 =
PynusaHcbke 82 6 0,6 1) 0,1 0,1 5C3(65)3C3(120)1J131I'3 65 0,50 1 23 26 220 4e - = 480 ==
JIvTBUHIBCHKE 21 3 1.5 (1) 0,4 0.4 10Cak 56 0,40 ) 20 22 180 2e B B 78 -
JIMTBHHIBCbKE 21 5 2,3 (1) 0,6 0,6 10C3x 56 0,80 1 21 22 343 2e = e 148 -
JInTeuHiBCLKE 21 5 2.3 ) 0,8 0,8 10C3k 56 0,80 1 21 22 343 2e B - 150 -
JINTBHHIBCbKC 26 31 1,0 €3] 0,7 0,7 10C3 53 0,80 1A 24 26 440 2¢ ~a - 167 -
JINTBUHIBCLKC 41 17 0,5 (1) 0,4 0,4 10C3 61 0,40 11 19 24 170 2e - e 47 -
SlcHoropoackke 24 22 0,3 (1) 0,2 0,2 10Ca 62 0,70 1 22 26 320 3 - - 400 -“a
SIcHOrOpOJIChKE 25 26 1,3 m | 02 0,2 6C3(62)4C3(36) 62 0,60 1 21 26 240 3¢ 180
SlcHoroposchke 25 29 03 M | o2 0,2 6C3(62)4C3(36) 62 0,60 i 21 26 240 3 145




1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Scuoroposcske 32 6 2,0 §)) 0,5 0,5 8C32/[3+0c 61 0,70 11 18 26 230 4e caditapHe | Biamupaunus 246 SIRVUIG)
SlcHoropoackke 32 9 0,5 (1) 0,3 0,3 10C3 65 0,80 1 23 26 390 4e pyOaHHA TA BCHXAHHA 217 MaTepinin
SICHOrOpOAChKE 38 9 0,3 1) 0,1 0,1 16C3 51 0,60 1 19 22 220 3 CylinbHe Aepes 370 NICBIOPAJIKYBUHHA
ScHoropoAChKe 38 4 9,1 (1) 0,3 0,3 8C3(51)2C3(35) 51 0,70 1A 22 24 270 3e - = 397 HC BUABJICHO
SICHOrOpOACHKE 38 4 9,1 (2) 0,1 0,1 8C3(51)2C3(35) 51 0,70 1A 22 24 270 Je = % 430 .
SlcHoropoacbke 38 11 0,6 (1) 0,1 0,1 10C3 51 0,80 1 19 22 300 3 < B 400 -t
SICHOTOPOACHKE 38 12 1,1 (1) 0,2 0,2 10Ca 51 0,80 1 19 22 300 3 <, “u 240 .
SICHOTOPOACHKE 52 3 204 1) 0,5 0,5 10C3k+bn 64 0,80 )i 20 24 335 3e “a Kopenesa ry6ka 274 =
SICHOrOpoAChKe 57 30 9,5 1) 0,2 0,2 10C3 50 0,80 ) 17 20 260 3e R Biamupanus Ta 90 e
SAcHoroposacbke 57 30 9,5 ) 0,9 0,9 10C3 50 0,80 I 17 20 260 3e - BCHXAHHSR AEpCS 217 e

PynHsHCbKe 59 19 56 (1) 0,6 0,6 8C32bn+/I3 64 0,70 1 24 24 330 4 e BiaMupanus 228 =
PyaHAHCbKE 82 8 0,5 (1) 0,1 0,1 9C31/13+I3 75 0,70 11 22 22 184 4 “a Ta BCHXAHHA 550 -
PynHsHChKe 92 7 0,2 (1) 0,2 0,2 10C3 76 0,60 I 24 26 310 4 » nepes 130 o
Kam'aucbke 34 2 3,0 (1) 0,5 0,5 10C3+/I3+T'3 86 0,60 1A 29 36 390 2e X - 194 R
Kam'sHChke 55 3 2.8 (1) 0,6 0,6 7C325Ine 16+ Jup+I3 56 0,75 1A 24 28 380 2e - X 343 ‘e
Kam'sHcake 67 7 19 @ | o7 0,7 9C31 i+T3 76 0,60 1A 28 36 350 2 “ 297
Kam'aHcbke 67 26 3,7 (1) 0,6 0,6 10C3+/13+1'3 91 0,70 IA 30 36 480 2e - R 340 =,
Kam'sHcbke 67 33 2,1 (1) 0,1 0,1 9C31{3+I'3+bn 77 0,70 1A 28 36 430 2e - e 340 -
Kam'sHcbke 70 14 34,0 (1) 0,7 0,7 10C3+][3+bn 76 0,75 1 26 30 430 2e X - 239 -
Kam'sucbke 70 14 34,0 (2) 0,8 0,8 10C3+/I3+Bn 76 0,75 1 26 30 430 2e X - 241 -
KaMm'aHcbke 70 14 35,0 3) 0,4 0,4 10C3+13+bn 76 0,75 1 26 30 430 2e “a . 240 =
Kam'aHcbke 74 8 4,5 ()] 0,9 0,9 9C31Bay, 76 0,70 1A 27 32 400 2e - - 274 a
KaM'siHCbKE 74 8 4,5 (2) 0,7 0,7 9C31Bnmu 76 0,70 1A 27 32 400 2e “a B 267 .
KaMm'sHchKe 78 1 1,2 [€))] 0,1 0,1 10C3 71 0,85 1 25 32 440 2e = < 480 “a
KaMm'sHCcbke 78 2 15,5 1) 0,9 0,9 10C3k+Br+Oc 49 0,80 1 20 22 310 2¢ B Kopenesa rybka 334 e
KaMm'sHcbke 78 2 15,5 (2) 0,9 0,9 10C3k+bn+Oc 49 0,80 I 20 22 310 e = Kopenesa ry6ka 339 =
KaMm'satceke 78 2 15,5 3) 0,9 0,9 10C3x+Bn+0c¢ 49 0,80 I 20 22 310 2e “a Kopeuesa rybxa 347 o
KaMm'sHcbke 78 2 15,5 4) 0,6 0,6 10C3x+bn+Oc 49 0,80 1 20 22 310 2e < Kopenesa ry6ka 333 <
KaMm'sHcbke 78 2 15,5 5) 04 0,4 10C3k+Bn+Oc¢ 49 0,80 I 20 22 310 2¢ < Kopetesa ry6ka 460 B
Kam'siHchke 78 5 1,2 (1) 0,1 0,1 86n2C3 40 0,70 1 19 22 190 2e o Biavupasia ta 180 “
Kam'aHcebke 78 7 1,3 (1) 0,1 0,1 10C3 65 0,80 I 23 32 390 2e = BCHXAHHA ACpeB 400 -
Kam'sucbke 79 | 9,0 (1) 0,9 0,9 10C3+bn 58 0,90 ) 19 22 330 2¢ X - 348 -
Kam'aHcbke 79 2 4,2 (1) 0,5 0,5 7C32Bn1Biy 49 0,80 1 20 26 280 2¢ - - 284 o
I1leBueHKIBCbKE 9 19 8.9 (1) 0,7 0,7 10C3+]J[3+bn 66 0,75 I 22 28 340 2e = = 357 -
1lleuenkiBCbKE 9 19 89 (2) 0,6 0,6 10C3+/13+Bn 66 0,75 1 22 28 340 2¢ X “ 360 o
IlleByeHKiscbke 15 21 1,9 (1) 09 0,9 10C3 54 0,75 1 20 24 300 2e % “o 321 -
I1leBueHKiBCbKE 15 21 1.9 (2) 0,2 0,2 10C3 54 0,75 I 20 24 300 2e 3 X 320 X
1lleBuenKiBenke 32 2 6,1 (1) 0,9 0,9 10C3 53 0,80 1 20 24 320 2e - - 352 X
Kamiokanchke 54 5 1,2 (1) 0,1 0,1 105Ine+I"3+bn 58 0,60 H 23 24 210 2¢ - - 240 -
KaTi0®aHChKe 54 3 1,7 ()] 0,9 0,9 95Ine1Ca+bn+/13 58 0,80 1A 23 24 450 2e “a “ 279 ‘e
KaroxaHchke 54 3 1,7 2) 0,9 0,9 95ne1Ca+Bbn+/13 58 0,80 1A 23 24 450 2e = B 332 .
KaTiomkancbke 54 2 0,8 1) 0,3 0,3 85Inelbull3 58 0,40 ¢ 23 24 140 2e “a < 157 =
Katioxkancske 54 4 0,5 ) 0,2 0,2 7C33bn+0c¢ 91 0,60 I 28 36 310 2e = iy 400 v
Kariokanchke 55 1 1,3 1) 0,3 0,3 75Inel1 A316n1C3 58 0,80 1A 25 28 450 2e < <, 467 )
Karioxanchke 54 1 2,1 [€))] 0,5 0,5 5C33bn25Ine+13 56 0,70 1A 23 28 310 2e <. o 348 Ry
JiHinposchke 32 12 4,3 (@) 0,8 0,8 10C3 66 0,70 I 23 24 340 de “a =< 234 -
JlsinpoBchke 32 12 43 2) 0,6 0,6 10C3 66 0,70 1 23 24 340 4e L ‘o 175 .
JHinpoBehKe 32 1 4,9 (€)] 0,6 0,6 10C3+Bbn 76 0,70 I 24 30 360 de Ry K 282 N




1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 1
Py/IHAHCEKE 81 11 0,3 (1 03 0,3 65Ine4C3+JI3+bnt 57 0,70 [ 19 20 300 4e caHitapHe | Bigmupauus 203 Wi
PynHAHCEKE 82 14 0,2 (1) 0,2 0,2 105Ine+C3+1(3 63 0,70 1 21 20 300 4e pyGaHHA Ta BCHXAHHS 255 Mutepiain
PyqHAHCbKE 2 24 11,0 (¢} 0,1 0,1 9C3(86)1C3(51) 86 0,60 I 22 32 270 4e CyLiibHE zepes 240 JHCHIOPRAKY BTN
PynHAHCEKE 2 25 1,3 (1) 0,7 0,7 10C3 86 0,60 11 22 36 270 4e - - 216 HE BURMICTIO
PynusHcbke 6 7 2,0 (1) 0,2 0,2 7C3(91)3C3(75) 91 0,60 H1 21 36 230 4e B Ry 140 .
PynHAHCHKE 74 13 10,0 (1) 0,2 0,2 9601 d3+Oc+Baa+I'3 66 0,60 IT 23 22 180 4e % - 275 e
PyaHAHCbKE 82 10 0,4 (1) 0,3 0,3 85Inel 31 Kar 63 0,70 1 22 22 360 4e <, “n 407 -
lIHinpoaébKe 5 7 4,5 (¢))] 0,7 0,7 9C3(81)1C3(66) 81 0,65 1 24 30 340 4e - = 227 -
JlninpoBcoke 12 6,2 1) 0,9 0,9 10C3 87 0,70 I 23 28 340 4e -, -4 218 =
JIHinpoBChKe 12 6,2 ) 0,7 0,7 10C3 87 0,70 1 23 28 340 4e < . 154 B
JiHinposceke 17 25 1.8 (€3] 0,8 0,8 10C3+Bn 87 0,50 1T 24 36 260 4e X -, 190 -
JHinpoBcbke 17 27 2,1 () 0,7 0,7 10C3+13+bn 51 0,80 300 4e B B 241 -
JIHInpPOBChKE 17 27 2,1 ) 0,5 0,5 10Ca+/13+Bn 51 0,80 300 de “, ‘o 242 .
JIHinpoBchKe 22 17 1,6 1) 0,1 0,1 10C3+bn 87 0,60 360 4e - B 480 =
JIHinpoBChke 26 31 0,9 1) 0,4 04 10C3+Bn 91 0,60 340 4e . A 150 o
JlHinpoBceKe 33 3 0,7 ) 0,7 0,7 10C3 86 0,65 330 4e % “u 233 -
JIHinpoBChKe 33 5 2,5 (1) 0.4 0,4 10C3 87 0,65 330 4e X - 256 <,
JIHinpoBChKE 33 5 2,5 2) 0,9 0,9 10C3 87 0,65 330 4e By 5, 127 ‘o
JIHiNpOBCbKE 33 7 2,2 1) 0,3 0,3 10C3+bn 74 0,60 310 4e -, B 510 -
JIHinpoBcbke 33 7 2,2 ) 0,8 0,8 10C3+Bn 74 0,60 310 4e B - 195 B
JIHINPOBCHKE 53 15 23 (1) 0,7 0,7 10C3+[3+bn 86 0,70 350 4e - “a 129 “a
JIHInpoBChKeE 53 19 0.8 1y - 02 0,2 10C3+I3+bn 91 0,65 370 4e ‘o = 190 -
JIHinpoBChKe 55 14 0.4 1) 0,2 0,2 10C3 86 0,65 370 4e - - 325 =
JUHInpOBCHKE 61 26 2,0 €3] 0,6 0,6 10C3+Bbn+/I3 92 0,60 330 4e e e 145 <o
Kam'aHCbKe 55 6 1,1 €8] 0,3 0,3 105Ine+C3+bn 60 0,80 540 2e - By 350 -
Kam'sHCBKE 55 6 1,1 2) 0,7 0,7 105Ine+C3+bn 60 0,80 540 2e - = 339 -
KaM'aHCEKE 55 7 09 ) 0,9 0,9 95nelCs 60 0,80 550 2e = . 339 =
Kam'ancbxe 56 5 1,7 (1) 0,9 09 10C3+[13+I'3 103 0,50 360 2e - - 291 e
Kam'sHCbKE 56 5 1,7 ) 0,7 0,7 10C3+03+I3 103 0,50 360 2e = - 289 “,
Kam'sHcbke 67 24 1,0 (4] 0,6 0,6 9AAne1Cs 71 0,80 610 2e u - 352 X
Kam'sHcbke 67 24 1,0 (2) 0,4 0.4 95nelCs 71 0,80 610 2e = = 338 ‘o

Beworo 2685,9 61,0 | 61,0
Oupekrop AN "Qumepcbke nicose rocnoaapcTeo” B.1. MnyuweHko




